Name ______________________________________  Date _____________  Period ______


Ecological Pyramid Lab

Prelab Use your textbook to help you answer the following (pgs 46-52)
Define Trophic level:

Draw a food web of the ecosystem around HHS:

What’s the difference between a food web and a food chain? Highlight or draw a circle around one food chain in your food web above. 
There are 3 types of ecological pyramids:

a. Energy pyramid:

b. Biomass pyramid:

c. Number pyramid:

Lab
During this lab, you will make the following assumptions:

· 1,000,000 kilocalories (KCal) of energy from the sun fuels this food chain.

· Only 1% of this energy from the sun actually gets stored in the producers as energy available to the next trophic level.

· 10% of the energy of one trophic level is available to the next trophic level.

· Since biomass is directly related to stored energy, the 10% rule applies to biomass as well.

· For this lab, we will focus on one food chain, rather than an entire food web.

Use the information in the table below to form ecological pyramids:

	Biomass of Organism
	Name of Organism

	30 Kg
	Puma

	5 Kg
	Coyote

	1 Kg
	Rabbit

	0.01 Kg
	Grass


Fill in this table to assist you in building your ecological pyramids:

	Trophic  Level
	Organism
	Energy (Kcal)
	Biomass
	# of Organisms

	3rd order consumer
	
	
	30 Kg
	1

	2nd order consumer
	
	
	
	

	1st order consumer
	
	
	
	

	Producers


	
	
	
	

	Sunlight


	
	1,000,000 KCal
	
	


Procedure
1. To get the Kcal of energy stored by the producers, take 1% of the sun’s energy.

2. Then, take 10% of the producer’s energy to get the energy in the 1st order consumers.

3. Then, take 10% of the 1st order consumer’s energy to get the energy in the 2nd order consumers.  Repeat this as many times as needed until the energy column is completed.

4. To get the biomass, take the biomass of the 3rd order consumer and multiply it by 10 to get the biomass of the 2nd order consumer.

5. Repeat Step #4 for each of the next trophic levels.

6. To get the numbers of organisms, divide the biomass of each trophic level by the biomass of an individual organism.

Conclusions – answer on a separate sheet of paper.

1. Make an energy pyramid with this information.  Your pyramid should show the four trophic levels illustrated in the chart that you just completed.  They pyramid should include the name of the organism and the energy available at each trophic level.

2. Draw a biomass pyramid with this information.  This time, label the total biomass found at each trophic level as well as the name of each organism.

3. Draw a number pyramid with this information.  This time, label the total numbers of organisms that can survive at each trophic level as well as the name of each organism.

4. Why is there less and less energy available at each trophic level as you move up the pyramid from the bottom to top?

5. What happens to all the sun’s energy that does not get stored in the producers?

